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1 CAT formula

We have,
P— ad
CATqie(p) = hi
[ a
CATreturn (P) =1+ pT,
and

R(p) = ap®exp(b x p)

with (ag, by, @y, by, a,b,¢) € Rl

Hence,

A(p)CAT4itt(p) + B(p)CATreturn (p)
A(p) + B(p)

CAT(p) =

_ R(p)CATdiff(p) + CATreturn (P)
R(p) +1

_ap®exp(bp)agp”’ +1+ap~tr

B ap® exp(bp) + 1

2 Limitwhen p+— +o00

ap®exp(bp)aap™® +1+a,p~"

apexp(bp) +1

CAT(p) =

ar —b.—c

_ aap”" + 3p~“ exp(=bp) + p~ " exp(—bp)
1+ zp=¢exp(~bp)

We note Ny p = aqp™ " + Lp~Cexp(—bp) + % p~0~¢exp(—bp)
and Dy = 1+ Lp~¢exp(—bp)



We have,

lim agp % =0
p—>—+o00

1
lim —p~“exp(—bp) =0

p—+oo
and
i T o) =0

So

L. M =0

and

oSl Ding =1

Hence

3 Limitwhenp— 0

ap®exp(b x p) x agp~? + 1+ ap~tr

ap®exp(b x p) +1

CAT(p) =

axagx pbiexp(bx p)+1+a.p b

apcexp(b x p) +1

We note Ny = a X ag x p°Pdexp(bx p) + 1+ ap~ 0

and Dy = ap®exp(b x p) + 1

3.1 Denominator (D)

We have

lim ap®exp(bp) =0
p—0

So

lim Dy = lim ap®exp(bp) +1 =1
p—0 p—0

(S5)



3.2 Numerator (V)

We have
Ifc—b;>0
and
Ifc—0b3<0
hence
Ifc—bs=0
hence
Conclusion

A4 (C, bd) S Rﬁ_

lim (14 ayp~ %) = 400
p—0
;il,% (a ag pol exp(bp)) =0
p—0
gii% (a ag p< Y exp(bp)) = 400

lim (a ag p°ba exp(bp)) =aay
p—0

p—0
limp_,o No =+o00 and hmp_m Dy =1, hence,

ll)g% CAT(p) = 400

(57)



	CAT formula
	Limit when + 
	Limit when 0
	Denominator (D0)
	Numerator (N0)


